Salvajor Model ARSS

Automatic Reversing Control Panel with LED
PRE-WIRED CONTROL PANEL PARTS BREAKDOWN

*Includes 24 Volt Safety Circuitry and Energy/Water-Saving Mode
ITEM PART NO. DESCRIPTION

/ 1 1212BA2 12” x 12” Box Assembly
11— 2 ABD100B Button Start
© 4 999175 Control Overlay

5 997032 Screw 10-32 x 5/8”

9 6 997161 Flatwasher #6
7 997160 Nut Hex 6-32

@ 8 994285 Solid State Controller
/// 9 122GA Lid Gasket Assembly 12”
3 — 10 SCR1032 Screw 10-32 Hex Head Ground
L] 11 097003 Screw 10-32 x 3/8”

12 994101 Secondary Fuse 2 Amp 600V CL-CC
13a 994122 Fuse .5 Amp 600V (Used on 460V)

4 ® 13b 994095 Fuse 1 Amp 600V (Used on 115, 208-230V)
14a 994115A Transformer 50VA 208-230V Primary
14b 994115B Transformer 50VA 460V Primary
14c 994116A Transformer 50VA 115V Primary

- ] 15 994292 Terminal Block

16 994293 Terminal End Barrier

5 1 17 994294 Terminal End Clamp

\ 18 994295 Din Rail Mounting Channel
© 19 994380 Contactor Assembly 24V 30A 3-Pole

20a ARSS4IP Inner Panel Assembly 115V 1-Ph

20h ARSS5IP Inner Panel Assembly 208-230V 1-Ph
20c ARSS7IP Inner Panel Assembly 208-230V 3-Ph
20d ARSSIIP Inner Panel Assembly 460V 3-Ph

14a
14b
14c

T —20a
20b
20c
20d

19

S (S S SN (SN (SN S SN (S SN SN SN S S S S S " " — |

ARSS Item Numbers

VOLTAGE PHASE ITEM NO.

115 1 ARSS4
208 or 230 1 ARSS5 i The Salvajor Company
208 or 230 3 ARSS7 Salva or 4530 East 75th Terrace

460 3 ARSSO Kansas City, MO 64132-2081 USA

1-888-SALVAJOR  FAX 1-800-832-9373

Printed in USA
Form No. PB/ARSS-10



Salvajor Model ARSS-LD

Automatic Reversing Control Panel with Line Disconnect and LED
PRE-WIRED CONTROL PANEL PARTS BREAKDOWN

*Includes 24 Volt Safety Circuitry and Energy/Water-Saving Mode

ITEM PARTNO. DESCRIPTION
1 1212BA3 12" X 12" Box Assembly
] / 2 ABD100B  Button Start
3 ABD200A Button Stop
\’ 4 999175 Control Overlay
2] 5 997032 Screw 10-32 X 5/8"
6 994177 Line Disconnect Assembly (Includes 6a.)
2 6a 984016 Line Disconnect Handle Only
7 994295 Din Rail Mounting Track
@ /@ @ 8 997137 Screw 10-32 X 3/8" Pan Head
- 9 997161 Flatwasher #6
3 - D y 10 997160 Nut Hex 6-32
| 1 994285 Solid State Controller
/ 12 122GA Lid Gasket Assembly 12"
4 / ) 13 SCR1032 Screw 10-32 Hex Head Ground
/ 14 997093 Screw 10-32 X 3/8"
,/ 15 994101 Secondary Fuse 2 Amp 600V CL-CC
/ 16a 994122 Fuse .5 Amp 600V (Used On 460V)
/ 16b 994095 Fuse 1 Amp 600V (Used On 115, 208-230V)
—_— | 17a 994115A Transformer 50VA 208-230V Primary
/ 17b 9941158 Transformer 50VA 460V Primary
S — | 17c 994116A Transformer 50VA 115V Primary
— 18 994292 Terminal Block
® / 19 994293 Terminal End Barrier
/ 20 994294 Terminal End Clamp
| 21 994380 Contactor Assembly 24V 30A 3-Pole
| 22a ARSSLD4IP  Inner Panel Assembly 115V 1-Ph
22h ARSSLD5IP  Inner Panel Assembly 208-230V 1-Ph
22¢ ARSSLD7IP  Inner Panel Assembly 208-230V 3-Ph
22d ARSSLDYIP  Inner Panel Assembly 460V 3-Ph
3 2
tg\ 16a
———— 16b
7 Y
— ] 17a
8— —® © I 17b
o |
; o e : ﬁ
10 I
(o] u
M 7
1 M
H —21
] ® U
] ——22a
L 22h
22¢
21d

13 14 15 18 19 20
ARSS-LD Item Numbers
VOLTAGE PHASE ITEM NO.
115 1 ARSSLD4 - The Salvajor Company
208 or 230 1 ARSSLD5 salva 4530 East 75th Terrace
208 or 230 3 ARSSLD7 ' Kansas City, MO 64132-2081 USA
460 3 ARSSLD9 1-888-SALVAJOR  FAX 1-800-832-9373
Printed in USA

Form No. PB/ARSSLD-10



